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Q1. Consider the following Statements regarding the Cooperative societies:

1. Cooperatives are organizations formed at the grassroots level by people to harness the power of
collective bargaining in the marketplace.

2. Cooperatives are covered under the central list of the Indian Constitution.

3. Maharashtra has the highest number of cooperative societies.

Select the correct Statement(s) using the code given below.

A.1and 2 only
B. 2 and 3 only
C.1and 3 only
D.1,2and3

Q2. Consider the following statements regarding the Satellite Communication (Satcom)

1. Satellite Communication (SatCom) uses very low frequency signals.
2. Unlike the traditional Mobile operators SatCom needs global coordination.
3. Satellite communication is possible through the Low Earth Orbital (LEO) satellites only.

Choose the CORRECT answer using the codes given below:

a) 1 only
b) 2 only
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¢) 1 and 2 only

Q3. BIND scheme, recently seen in the news, is related to:

a) Broadcasting Infrastructure
b) Defence Manufacturing

¢) Space Exploration

d) 3-D printing

Q4. Consider the following Statements about Demographic transition theory:

1. In stage one, pre-industrial society, death rates and birth rates are high and roughly in balance.

2. In stage two, the death rates drop rapidly due to improvements in food supply and sanitation, which
increase life spans and reduce disease.

3. In stage three there are both low birth rates and low death rates. Birth rates may drop to well below
replacement level, leading to a shrinking population.

4. During stage four birth rates fall. Birth rates decrease due to various fertility factors such as access to
contraception, urbanization etc. Population growth begins to level off.

Which of the statement/s given above is/are correct?

a) 1 and 2 only.
b) 3 and 4 only.
¢) 1 and 4 only.
d) 2 and 3 only.

Q5. Consider the following statements:

1. APEDA is responsible for the export promotion of fresh vegetables and fruits.
2. It was set by the Ministry of Agriculture and Farmers’ Welfare.
3. It is the official export certification body of India which ensures the quality and safety of products

exgorted from India.
Which of the statement/s given above is/are correct?

(@) 1 only

(b) 2 and 3 only
(c) 1 and 2 only
(d)1,2and 3
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